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10 

11 

12 

13 

14 

15 

16 

17 

18 

Nuclear Wallet Cards 

Jn 

1/2+ 

1/2+ 

1/2+ 
2— 

1/2+ 

0+ 

3/2— 

O+ 

(3/2)- 

O+ 

(1/2-) 

0+ 

2— 

3/2— 

1+ 

3/2— 

2+ 

3/2— 

(1-,2-) 

3/2- 

(1/2+) 

O+ 

3/2- 

O+ 

3/2-— 

O+ 

1/2+ 

O+ 

(1/2-) 

O+ 

(3/2—) 

2+ 

3/2— 

3+ 

3/2- 

1+ 

3/2— 
2— 

0- 

(3/2-) 

(4-) 

A 

(MeV) 

8.071 

7.289 

13.136 

14.950 

25.9 

36.8 

41.9 

14.931 

2.425 

11.39 

17.594 

26.11 

31.598 

40.82 

48.81 

25.3 

11.68 

14.086 

14.908 

20.946 

24.954 

33.05 

40.80 

50.1s 

38.s 

18.375 

15.769 

4,942 

11.348 

12.607 

20.174 

25.08 

33.7 

39,9 

27.87 

22.921 

12.416 

12.051 

8.668 

13.369 

16.562 

23.66 

28.97 

37.08 

43.7 

52.38 

T%,T, or 

Abundance 

10.24 m 2 

99.985% 1 
0.015% 1 
12.33 y 6 
4.6 MeV 9 
5.7 MeV 21 
1.4 MeV 3 

0.000137% 3 

99.999863% 3 

0.60 MeV 2 

806.7 ms 15 

160 keV 30 

119.0 ms 15 

65 keV 37 

0.17 MeV 11 

6.03 MeV 

=1.5 MeV 

7.59% 4 

92.41% 4 

838 ms 6 

178.3 ms 4 

1.2 MeV 3 

8.5 ms 2 

<10 ns 

92 keV 6 

53.29 d 7 

6.8 eV 17 

100.% 

1.51x10$ y 6 
13.815 8 

21.3 ms 1 

0.17 MeV 11 

4.35 ms 17 

1.4 MeV 2 

770 ms 3 

0.54 keV 21 

19.8% 3 

80.2% 3 

20.20 ms 2 

17.36 ms 16 

12.3 ms 3 

9.87 ms 7 

<190 ps 

5.08 ms 5 

<26 ns 

Decay Mode 

B- 

B-, B-n 16% 

B- > B-a 

B-, B—=n 50.8% 

n 

B-, Bra 0.027%, 

B-n 

n ? 

P 
a, 2p 

€ 

a 

B- 

B—, B-a3.1% 

B-, B-n<1% 

n 

B-, B-n 81%, 

B-2n 5% 

p, a 
E, EQ 

P : 

B-, B-3a 1.58% 
B- 

B-, B-n 6.04% 

B-, B-n 93.6%, 

B-2n 0.4% 

n 

B-, ß-n 63%, 

ß-2n 11%, B-3n 3.5%, 

B-4n 0. 4% 

n ?
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Nuclear Wallet Cards 

Isotope 

Z El A Jn 

5 B 19 (3/2-) 

6C 8 O+ 

9 (3/2-) 

10 O+ 

11 3/2- 

12 O+ 

13 1/2- 

14 O+ 

15 1/2+ 

16 0+ 

17 

18 O+ 

19 

20 0+ 

21 (1/2+) 

22 O+ 

7 N 10 (1-) 

llm  1/2+ 

12 1+ 

13 1/2— 

14 1+ 

15 1/2— 

16 2- 

17 1/2- 

18 1- 

19 

20 

21 (1/2-) 

22 

23 (1/2-) 

24 

80 12 0+ 

13 (3/2—) 

14 O+ 

15 1/2— 

16 0+ 

17 5/2+ 

18 0+ 

19 5/2+ 

20 O+ 

21 (1/2,3/2,5/2)+ 
22 O+ 

23 (1/2+) 

24 O+ 

25 (3/2+) 

26 O+ 

9 F 14 (2-) 

15 (1/2+) 

16 0- 

17 5/2+ 

A T%,T, or 

(MeV) Abundance Decay Mode 

59.45 >200 ns B-? 

35.09 230 keV 50 p, a 

28.914 126.5 ms 9 €, ep 23%, 20 17% 
15.699 19.255 s 53 & 

10.651 20.39 m 2 E 

0.000 98.89% 1 

3.125 1.11% 1 

3.020 5730 y 40 B- 

9.873 2.449 s 5 B- 

13.694 0.747 s 8 B-, B-n 99% 

21.04 193 ms 13 B-, B-n 32% 

24.92 95 ms 10 B-, B-n 19% 

32.8 49 ms 4 B-n 61%, f- 

37.6 14 ms +6-5 B—, Ba 72% 

46.0s <30 ns n? 

52.6s >200 ns ß-? 

39.7s p? 

25.3 1.58 MeV +75-52p 

17.338 11.000 ms 16 e, e3a 3.44% 

5.345 9.965 m 4 E 

2.863 99.634% 20 

0.101 0.366% 20 

5.683 7.138 2 B-, B-a 0.0012% 

7.87 4.173 s 4 B-, B-n 95.1% 

13.12 624 ms 12 B-, B-n 14.3%, 

B-a 12.2% 

15.86 290 ms 90 B-, B-n 62.4% 

21.77 142 ms 19 B-, B-n 66.1% 

25.23 87 ms 6 B-, B-n 80% 

32.1 18 ms 5 B-, B-n 35% 

37.78 >200 ns B-? 

47.0s <52 ns n? 

32.05 0.40 MeV 25 p 

23.111 8.58 ms 5 €, ep= 100% 

8.007 70.606 s 18 € 

2.855 122.24 s 16 E 

4.737 99.762% 16 

-0.809 0.038% 1 

-0.782 0.200% 14 

3.334 26.91 s 8 B- 

3.797 13.51 s 5 B- 

8.06 3.42 s 10 B- 

9.28 2.25s 15 B-, B-n<22% 

14.6 82 ms 37 B-, B-n 31% 

19.0 61 ms 26 B-—, B-n 58% 

27.1s <50 ns n ? 

35.28 <40 ns n? 

33.6s p 

16.8 1.0 MeV 2 p 

10.680 40 keV 20 p 

1.952 64.49 s 16 € 

2
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